ISSN:1306-3111 e-Journal of New World Sciences Academy 2009, Volume: 4, Number: 4, Article Number: 3A0015



PHYSICAL SCIENCES Received: October 2008 Accepted: September 2009 Series : 3A ISSN : 1308-7304 © 2009 www.newwsa.com Fatih Karakuş¹ Mustafa Yıldırım² Karadeniz Technical University¹ University of Cumhuriyet² fkarakus58@gmail.com Trabzon-Turkiye

ON $(N, p, q) C_1$ SUMMABILITY OF THE SEQUENCE $\{nB_n(x)\}$

ABSTRACT

In this article a generalization of a theorem on the $(N,p)C_1$ summability of derived series proved by Sharma is established for generalized $(N,p,q)C_1$ summability of the sequence $\{nB_n(x)\}$.

Keywords: Nörlund Summability, Generalized (N,p,q) Summability, Cesaro Summability, Fourier Series, Derived Series

$\{nB_n(x)\}$ dizinin $(N, p, q)C_1$ toplanabilirliği üzerine

ÖZET

Bu makalede Sharma tarafından türev serilerinin $(N,p)C_1$ toplanabilirliği üzerine ispatlanan teoremin genelleştirilmiş $(N,p,q)C_1$ toplanabilirliği üzerine bir genelleştirilmesi yapılmıştır. Anahtar kelimeler: Nörlund toplanabilirliği, Genelleştirilmiş Nörlund Toplanabilirliği, Cesaro toplanabilirliği, Fourier Serileri, Türev serileri e-Journal of New World Sciences Academy Physical Sciences, 3A0015, 4, (4), 117-123. Karakuş, F. ve Yıldırım, M.



1. INTRODUCTION (GİRİŞ)

Various types of criteria, under varying conditions, for the Nörlund summability of the derived Fourier series have been obtained by Hille and Tamarkin [4], Astrachan [1] and Prasad and Siddiqi [9]. Then, Sharma [11] and Prasad [10] studied about Nörlund summability of derived series. In 2001, Lal and Yadav [5] studied about the summability of derived series of Fourier series on $(N,p,q)C_1$ summability. In this article, we generalized Sharma's [11] theorem about derived series of summability on $(N,p)C_1$ as generalized $(N,p,q)C_1$. The definition and notations which will be used in proof of the theorem is followed.

Definitions and Notations:

Definition 1. Let $\sum u_n$ be a given infinite series with the sequence of partial sums $\{s_n\}$. Let $\{p_n\}$ be a sequence of real constants, and let us write

$$P_n = \sum_{k=0}^n p_k \ ; \ P_{-1} = p_{-1} = 0.$$

The sequence-to-sequence transformation

$$t_n = \frac{1}{P_n} \sum_{v=0}^n p_{n-v} s_{v-v} (P_n \neq 0)$$

defines the sequence of Nörlund means of the sequence $\{2_n\}$ generated by the sequence of coefficient $\{p_n\}$. The series $\sum u_n$ is said to be summable (N,p) to the sum s, if $\lim_{n\to\infty} t_n = s$ [13].

Definition 2. Let $\sum_{n=0}^{\infty} a_n$ be a given infinite series with the sequence of nth partial sums $\{s_n\}$. Let p, q denote the sequences $\{p_n\}$ and $\{q_n\}$ with $p_{-1} = 0, q_{-1} = 0$, respectively. Given two sequences p and q, the convolution $(p * q)_n$ is defined by

$$R_n = (p * q)_n = \sum_{k=0}^n p_{n-k} q_k = \sum_{k=0}^n p_k q_{n-k}.$$
 (1)

When $(p * q)_n \neq 0$ for all n, for any sequence $\{r_n\}$ we write

$$t_n^{p,q} = \frac{1}{(p * q)_n} \sum_{k=0}^n p_{n-k} q_k s_k.$$
(2)

If $t_n^{p,q} \to s$ as $n \to \infty$, we write $\sum_{n=0}^{\infty} a_n = s(N,p,q)$ or $\{s_n\} \to s(N,p,q)$ [2].

Definition 3. We write (C, 1) means of $\sum_{n=0}^{\infty} a_n$ series or sequence $\{s_n\}$ as follows:

$$\sigma_{n} = \frac{s_{0} + s_{1} + s_{2} + \dots + s_{n}}{n+1}$$
(3)

If $\sigma_n \to s$ as $n \to \infty$, we write $\sum_{n=0}^{\infty} a_n = s(C, 1)$ or $\{s_n\} \to s(C, 1)$ [3].



Definition 4. The (N,p,q) transform of the (C,1) transform C_1 defines the $(N,p,q)C_1$ transform of the partial sum $\{s_n\}$ of the series $\sum_{n=0}^{\infty} a_n$. Thus, if

$$t_{n}^{p,q,C_{1}} = \frac{1}{(p*q)_{n}} \sum_{k=0}^{\infty} p_{n-k} q_{k} \sigma_{k}$$
(4)

tends to s, as $n \to \infty$ then the series $\sum_{n=0}^{\infty} a_n$ is said to be summable by $(N,p,q)C_1$ summable to s. It is denoted as, $t_n^{p-q,C_1} \to s((N,p,q)C_1)$ [5]. The necessary and sufficient conditions that the (N,p,q) method be regular are

$$\sum_{k=0}^{n} |p_{n-k}q_{k}| = O(|(p*q)_{n}|)$$
(5)

and

$$p_{n-k} = o(|(p * q)_n|), as n \to \infty,$$
⁽⁶⁾

for every fixed $k \ge 0$, for each $q_k \ne 0$. The (C, 1) summability is also regular. Let us verify the regularity conditions of $(N, p, q)C_1$ method

$$\begin{aligned} t_n^{p,q,C_k} &= \frac{1}{B_n} \sum_{k=0}^n p_{n-k} q_k \, \sigma_k \\ &= \frac{1}{R_n} \sum_{k=0}^n \frac{p_{n-k} q_k}{n-k+1} \sum_{\nu=0}^{n-k} s_\nu \\ &= \sum_{k=0}^\infty C_{n,k} s_k \end{aligned}$$

where

$$C_{n,k} = \begin{cases} \frac{1}{R_n} \left(\frac{p_{n-k} q_k}{n-k+1} \right) \sum_{\nu=0}^{n-k} 1, & k \le n \\ 0, & k > n. \end{cases}$$

Now

(i)
$$\begin{split} & \sum_{k=0}^{\infty} \left| \mathcal{C}_{n,k} \right| = \frac{1}{B_n} \left(\sum_{k=0}^n p_{n-k} q_k \right) = \mathbf{1} \\ & \text{(ii)} \quad \mathcal{C}_{n,k} = \frac{p_{n-k} q_k}{B_n} \to 0 \text{ as } n \to \infty, \text{ for fixed } k \\ & \text{(iii)} \quad \sum_{k=0}^{\infty} \mathcal{C}_{n,k} = \mathbf{1}. \end{split}$$

So $(N_{1}p_{1}q)C_{1}$ method is regular [5].

Definition 5. Let f(t) be a function which is integrable in the sense of Lebesque over the interval $(-\pi,\pi)$ and is defined outside this interval by periodicity. Let the Fourier series of f(x) be

$$\frac{1}{2}a_0 + \sum_{1}^{n} (a_n Cosnx + b_n Stnnx) = \frac{1}{2}a_0 \sum_{1}^{n} A_n(x)$$
(7)

then the derived series of (7) is

$$\sum_{n=1}^{\infty} n(b_n Cosnx - a_n Stnnx) = \sum_{n=1}^{\infty} nB_n(x).$$
[6].(8)

We shall use the following notations:

e-Journal of New World Sciences Academy Physical Sciences, 3A0015, 4, (4), 117-123. Karakuş, F. ve Yıldırım, M.



$$\psi(t) = f(x+t) - f(x) - l$$

$$\tau = [1/t], \text{ is the integral part of } \frac{1}{t}$$

$$\Psi(t) = \int_0^t |\psi(u)| du.$$

2. RESEARCH SIGNIFICANCE (ÇALIŞMANIN ÖNEMİ)

In this article the authors generalized Sharma's [11] theorem about Nörlund summability as generalized $(N,p,q)C_1$ summability. We hope that the result of the study will contribute for the next studies about summability.

3. MAIN RESULTS (ANA SONUÇLAR)

- In 1970 Sharma [11] proved the following theorem.
- Theorem 1: If $\{p_n\}$ is a monotonic, non-increasing sequence of real positive constant such that

$$\begin{array}{l} P_n \to \infty \ as \ n \to \infty, \\ logn = O(P_n), and \\ \int_0^t |\psi(u)| du = o\left(\frac{t}{P_n}\right) \ as \ t \to 0, \end{array}$$

then the sequence $\{\mathbf{nB}_n(\mathbf{x})\}$ is summable $(N, p_n)C_1$ to the sum $\frac{l}{\pi}$ [11].

Lemma. If p_n is non-negative and non-increasing and q_n is non-negative and non-decreasing then

$$\left|\sum_{\nu=0}^{n-1} p_{\nu} q_{n-\nu} \cos(n-\nu) t\right| \leq k R_{\tau}$$
^[7].

Proof. We write,

$$\begin{aligned} |\Sigma_{v=0}^{n-1} p_v q_{n-v} \cos(n-v) t| &\leq \left| \sum_{v=0}^{n-1} p_v q_{n-v} e^{(n-v)t} \right| \\ &= \left| e^{int} \sum_{v=0}^{n-1} p_v q_{n-v} e^{-ivt} \right| \\ &= \left| \sum_{v=0}^{\tau-1} p_v q_{n-v} e^{-ivt} \right| + \left| \sum_{v=\tau}^{n-1} p_v q_{n-v} e^{-ivt} \right| \end{aligned}$$

But

$$\left| \sum_{\nu=0}^{r-1} p_{\nu} q_{n-\nu} e^{-t\nu t} \right| \le \sum_{\nu=0}^{r-1} p_{\nu} q_{n-\nu} \le R_{\tau}$$
(9)

And Abel's transformation

$$\begin{aligned} \left| \Sigma_{v=0}^{\tau-1} p_{v} q_{n-v} e^{-ivt} \right| &\leq \max_{\substack{\tau \leq v \leq n-1 \\ \tau \leq v \leq n-1 \\ v \in \tau}} \left| \Sigma_{k=0}^{v-1} e^{-ikt} \right| \times \\ &\times \left(\Sigma_{v=\tau}^{n-2} \left(p_{v} q_{n-v} - p_{v+1} q_{n-(v+1)} \right) + p_{\tau} q_{n-\tau} - p_{n-1} q_{1} \right) \\ &= 2 p_{\tau} q_{n-\tau} + \tau \leq v \leq n-1 \left| \Sigma_{k=0}^{v-1} e^{-ikt} \right| \\ &= 2 p_{\tau} q_{n-\tau} + \tau \leq v \leq n-1 \left| \frac{1-e^{-ivt}}{1-e^{-it}} \right| \\ &\leq 4 p_{\tau} q_{n-\tau} \left(\frac{1}{\sin \frac{\tau}{e}} \right) \\ &\leq k \frac{p_{\tau} q_{n-\tau}}{t}. \end{aligned}$$
(10)

From (9) and (10) we write,



$$\left|\sum_{\nu=0}^{n-1} p_{\nu} q_{n-\nu} \cos(n-\nu) t\right| \le R_{\nu} + k \frac{p_{\nu} q_{n-\nu}}{t} \le R_{\nu} + k(\nu+1) p_{\nu} q_{n-\nu} \le k R_{\nu}$$
^[7]

In this paper we will obtain the following theorem.

Theorem 2. If is a non-negative, monotonic, non-increasing sequence and (q_n) a non-negative, non-decreasing sequence such that

$$\begin{split} R_n &\to \infty \text{ as } n \to \infty, \\ logn &= O(R_n), and \\ \int_0^t |\psi(u)| du &= o\left(\frac{t}{R_t}\right) \text{ as } t \to 0, \end{split}$$

then the sequence $\{\mathbf{nB}_n(\mathbf{x})\}$ is summable $(N, p, q)C_1$ summable to sum $\frac{l}{\pi}$. **Proof.** Let σ_n is denoted the (C,1) transform of the sequence $\{\mathbf{nB}_n(\mathbf{x})\}$

$$\sigma_n - \frac{l}{\pi} - \frac{1}{n} \sum_{k=1}^n k B_k(x) - \frac{l}{\pi} - \frac{1}{\pi} \int_0^\pi \psi(t) \left[\frac{sinnt}{nt^2} - \frac{cosnt}{t} \right] dt + o(1)$$

by Riemann-Lebesque theorem [8].

$$\begin{split} t_n^{p,q,C_1} &= \frac{1}{s_n} (\sum_{w=1}^n p_{n-w} q_w \sigma_w) \\ &= \sum_{w=1}^n \frac{p_{n-v} q_w}{B_n} \frac{1}{n} \int_0^n \psi(t) \left[\frac{strest}{vt^2} - \frac{cosvt}{t} \right] dt + \frac{i}{n} + o(1) \\ t_n^{p,q,C_1} - \frac{i}{n} &= \int_0^n \psi(t) \left(\frac{1}{n} \sum_{w=1}^n \frac{p_{n-v} q_w}{B_n} \left[\frac{strest}{wt^2} - \frac{cosvt}{t} \right] dt \right) + o(1) \\ &= \int_0^n \psi(t) r_n(t) dt + o(1) \\ &= \left(\int_0^{1/n} + \int_{1/n}^\delta + \int_\delta^n \right) \psi(t) r_n(t) dt + o(1) \\ &= I_1 + I_2 + I_3. \end{split}$$

Now

$$r_n(t) = O\left(\frac{1}{t}\right). \tag{11}$$

Since

$$r_n(t) = O(n), \text{ when } 0 \le t \le \frac{1}{n}$$
(12)

and using the condition (iii) of theorem 2, we have $I_1 = a(1)$.

Since the $(N, p, q)C_1$ method is regular

$$I_3 = o(1),$$

$$\begin{split} I_2 &= \int_{1/n}^{0} \psi(t) r_n(t) dt + o(1) \\ &= \frac{1}{\pi} \int_{1/n}^{\delta} \psi(t) \sum_{\nu=1}^{n} \frac{p_{n-\nu} q_{\nu} \operatorname{sinvt}}{B_n} dt - \frac{1}{\pi} \int_{1/n}^{\delta} \psi(t) \sum_{\nu=1}^{n} \frac{p_{n-\nu} q_{\nu} \operatorname{cosvt}}{B_n} dt \\ &= I_{21} - I_{22}; \text{ say.} \end{split}$$

Considering Stieltjes integral, using Lemma and the conditions (i) and (ii) of the theorem 2, we have,

$$I_{22} = O\left(\frac{1}{R_n}\int_{1/n}^{\delta}\frac{|\psi(t)|}{t}R_t dt\right) = o(1).$$



$$\begin{split} I_{21} &= \frac{1}{n} \int_{1/n}^{\delta} |\psi(t)| \sum_{\nu=1}^{n} \frac{p_{n-\nu}q_{\nu} \sin\nu t}{R_{n}} dt \\ &= \frac{1}{nR_{n}} \int_{1/n}^{\delta} \frac{|\psi(t)|}{t^{2}} \sum_{\nu=0}^{n-1} p_{\nu} q_{n-\nu} \frac{\sin(n-\nu)t}{(n-\nu)} dt \\ &= \frac{1}{nR_{n}} \int_{1/n}^{\delta} \frac{|\psi(t)|}{t^{2}} \sum_{\nu=0}^{n-1} p_{\nu} q_{n-\nu} \sin(n-\nu) t \left(\frac{\nu}{(n-\nu)} + 1\right) dt \\ &= \frac{1}{nR_{n}} \int_{1/n}^{\delta} \frac{|\psi(t)|}{t^{2}} \sum_{\nu=0}^{n-1} \frac{\nu p_{\nu} q_{n-\nu} \sin(n-\nu)t}{(n-\nu)} dt + \frac{1}{nR_{n}} \int_{1/n}^{\delta} \frac{|\psi(t)|}{t^{2}} \sum_{\nu=0}^{n-1} p_{\nu} q_{n-\nu} \sin(n-\nu) t dt \end{split}$$

$$\begin{split} \Sigma_{\nu=0}^{n-1} \frac{v p_{\nu} q_{n-\nu} \sin \left(n-\frac{1}{n-\nu}\right)}{(n-\nu)} &= p_{n-1} q_1 \sum_{\nu=0}^{n-1} \frac{v \sin \left(n-\nu\right) t}{(n-\nu)} + \\ &+ \sum_{\nu=0}^{n-2} \left(p_{\nu} q_{n-\nu} - p_{\nu+1} q_{n-(\nu+1)} \right) \sum_{m=0}^{\nu-1} \frac{v \sin \left(n-m\right) t}{n-m} \\ &= \sum_{\nu=0}^{n-2} \left(p_{\nu} q_{n-\nu} - p_{\nu+1} q_{n-(\nu+1)} \right) \left(\sum_{k=0}^{\nu-1} \left(-1\right) \sum_{m=0}^{k} \frac{\sin \left(n-m\right) t}{n-m} + \nu \sum_{k=0}^{\nu} \frac{v p_{\nu} q_{n-\nu}}{n-m} + v p_{\nu} q_{n-\nu} + v p_{\nu} q_{n-$$

$$+p_{n-1}q_1\sum_{\nu=0}^{n-2}(-1)\sum_{m=0}^{\nu}\frac{\sin(n-m)\nu}{n-m}+(n-1)p_{n-1}q_1\sum_{m=0}^{n-1}\frac{\sin(n-m)\nu}{n-m}$$

Hence we obtain

$$\begin{split} I_{211} &= \frac{1}{n\pi R_n} \int_{1/n}^{\delta} \frac{|\psi(t)|}{t^2} \left[O\left(\sum_{\nu=0}^{n-2} v \left| p_{\nu} q_{n-\nu} - p_{\nu+1} q_{n-(\nu+1)} \right| \right) + O(n-1) p_{n-1} q_1 \right] dt \\ &= O\left(\frac{1}{n} \int_{1/n}^{\delta} \frac{|\psi(t)|}{t^2} dt\right) \\ &= O\left(\frac{1}{n} \left[\frac{|\Psi(t)|}{t^2}\right]_{1/n}^{\delta} + \frac{2}{n} \int_{1/n}^{\delta} \frac{|\Psi(t)|}{t^2} dt\right) \\ &= o(1) + O\left(\frac{1}{n} \int_{1/n}^{\delta} \frac{1}{t^2} dt\right) \\ &= o(1) \\ \text{and} \\ I_{212} &= \frac{1}{n\pi R_n} \int_{1/n}^{\delta} \frac{|\psi(t)|}{t^2} \sum_{\nu=0}^{n-1} p_{\nu} q_{n-\nu} \sin(n-\nu) t dt \\ &= O\left(\frac{1}{nR_n} \int_{1/n}^{\delta} \frac{|\psi(t)|}{t^2} dt \sum_{\nu=0}^{n-1} p_{\nu} q_{n-\nu}\right) \end{split}$$

 $= O\left(\frac{1}{n}\int_{1/n}^{\delta}\frac{|\phi(t)|}{t^2}dt\right),$

same as I_{211} ,

 $l_{212} = o(1).$

This completes the proof of the theorem 2.

4. CONCLUSION AND SUGGESTIONS (SONUÇ VE ÖNERİLER)

In this article, we have successfully established a theorem for $(N,p,q)C_1$ summability of the sequence $\{nB_n(x)\}$. It may be observed that this theorem can be considered similar to the theorem of Lal & Yadav [5] for derived Fourier series. In the next studies, this theorem can be rearranged for almost Nörlund summability or conjugate derived Fourier series.



REFERENCES (KAYNAKLAR)

- Astrachan, M., (1936). Studies in The Summability of Fourier Series by Nörlund Means. Duke Math. J., 2, 543-568.
- Borwein, D., (1958). On Product of Sequence. London Math. Soc., 33, 352.
- Goldberg, R.R., (1976). Methods of Real Analysis (Second Edition). New York: Wiley.
- Hille, E. & Tamarkin, J.D. (1932). On the Summability of Fourier Series I. Trans. Amer. Math. Soc., 34, 757-783
- Lal, S. and Yadav, P., (2001). (N,P,q)C₁ Summability of Derived Series of a Fourier Series. Bull. Cal. Math. Soc., 93, (2), 85-92.
- Lal, S.N., (1964). On the Absolute Nörlund Summability of a Fourier Series. Arch. Math. Vol. 15, 214-221.
- Mc Fadden, L., (1942). Absolute Nörlund Summability. Duke Math. Journal, 9, 168-207.
- Mohanty, R. and Nanda, M., (1954). On the Behavior of Fourier Coefficients. Proceedings of American Math. Soc. Vol. 5, 79-84.
- Prasad, B.N. and Siddiqi, J.A., (1950). On the Nörlund Summability of the Derived Fourier Series. Prac. Not. Inst. Sci. India, A 16, 71-82.
- Prasad, K., (1973). Nörlund Summability of Derived Fourier Series. Bull. De Lacad. Polon, Sci. 21 (12), 1093.
- 11. Sharma, R.M., (1970). On (N.P.)C1 Summability of Sequence
 {nBn(x)}. Circ. Math. D. Palermo Rend. 19, (2), 217-224.
- 12. Titcmarsh, E.C., (1949). The Theory of Functions (Second Edition). London: Oxford University Press.
- Varshney, O.P., (1964). On the Absolute Nörlund Summability of a Fourier Series. Math. Zeitschr, 83, 18-24.
- 14. Varshney, O.P., (1959). On a Sequence of a Fourier Coefficient. Proc. Amer. Math. Soc., 10, 790-795.